
fishing rod holder
genesis 250/300
installation instructions 

included: tools needed:

Madjax recommends professional installation. If you choose to not have this product installed 
by a professional, we highly recommend that you exercise caution, care, and patience when 
installing this product as it involves drilling holes into your cart’s body.

1
2Insert rail attachments into rod holder 
and tighten hardware.

*Before installing this product, refer to 
lower rail assembly instructions (01-046) for 
installing the lower rail.

Remove nut, lock washer, and flat 
washer from rail attachment.

Fishing Rod Holder
2 Rail Attachments
Hardware Pack

Cordless Drill
17mm wrench
#3 Phillips

01-099

Lower Rail

(sold separately)

Fishing Rod HolderRail Attachments

Mounted to 
Rod Holder



3
Installation Complete

visit www.mymadjax.com for more installation videos.

Pack 1
2 - 10mm x 70mm counter sunk phillips #3
2 - 10mm flat washers
2 - 10mm lock washers
2 - 10mm nuts

W01-108
•Hardware pack
W01-9-68
•Lower fastener/ Threaded knob
W01-9-69
•Rail Attachment main bracket

Hardware Pack

warranty parts

(A) Remove threaded knob from rail 
attachments and slide rod holder on to 
lower rails.

(B) Secure rod holder in desired 
location by re-inserting threaded knobs 
and tightening.

A
B

3

2

1

1

3

3

01-101 - FISHING POLE HOLDER
FOR GENESIS300/250 REAR DELUXE SEAT

WARRANTY PARTS
EXPLODED VIEW DIAGRAM

Date Issued: 5/18/15

Componet Part#'s for 01-101 Fishing Pole Holder Assembly:

01-099 Brackets, Hardware, & Instructions

01-068 Fishing Pole Holder
01-097 Color Box

01-101 - FISHING POLE HOLDER FOR GENESIS300/250
 ITEM # DESCRIPTION PART # QTY

1  Rail Attachment Lower Fastener & Threaded Knob W01-9-68 2

2  Rail Attachment Main Bracket W01-9-69 2

3  Hardware Pack W01-108 1
    M10x70 Countersunk Phillips#3 2

    M10 Flat Washer 2

    M10 Lock Washer 2

    M10 Hex Nut 2


